Extra Practice

Chapter 3
3.1 Plot the point in a coordinate plane. Describe the location of the point.
1. K(—4, —-2) 2. L(5,0) 3. M(3, -1) 4. N(-2,2)
5. P(0,4) 6. Q(—3.5,5) 7. R(2.5,6) 8. 5(-1, -1.5)
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Graph the function with the given domain. Then identify the range of
the function.

9. ¥ 2x + 2; domain: -2, -1,0,1, 2 10, y ir 3; domain: -4, 2,0, 2, 4
Graph the equation.

11. y—x=3 12. y+ 3x=5 13. y—4x=10 14. y=4

15. 2x —y =0 16. 3x + =0 17. 3x+ 2y = —6 18. x = 0.5
Find the x-intercept and the y-intercept of the graph of the equation.

19. 2x — y = 12 20, —5x — 2y = 20 21, —4x+ 1.5p=4 22y r::. 15
Graph the equation. Label the points where the line crosses the axes.

29, y=3x—-6 24. 4x+ 5y=-20 25 Zx 4 Jy=10 26. 0.3x — y— 6
Find the slope of the line that passes through the points.

27. (4, 2) and (6, 8) 28. (—3,0) and (2, —5) 29. (-5, 3) and (—8&, 10)
30. (9, 4) and (0, 1) 31. (—2, 5) and (-2, 10) 32. (G, —4) and (4, —4)
Identify the slope and y-intercept of the line with the given equation.

33. y=Tx+8 34. y=10x—- 6 35. y=3 —4x 36. y=x
Rewrite the equation in slope-intercept form. Then identify the slope and

the y-intercept of the line.

37. 2x +y =8 38, 10x — y = 20 39, 5x -+ 2y = 10 40, —2x —y=173
Graph the equation.

41, y—2x—4 42, y= —2x+1 43, 2x+y =1 44, —2x + 3y =9
Graph the direct variation equation.

45. y= 2x 46. y X 47, y=4x 48. Sx+y=10
49. x - 2y=10 50. dx +y=10 51. 2y =9x 52. y i.r 0
Find the value of x so that the function has the given value.

53. flx) ix =3 =17 54. glx) =5x —4;12 55. f{x) = dx + 1; 11
Graph the function. Compare the graph with the graph of flx) = x.

56. mix) = x — 2 87. Hx) =x+ 4 58. z(x) = 6x 59. h(x) = —2x

EP4





